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Problem 4, p.73 text
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From Appendix A
loge Cp = Ki + Kzlogio A + Ky (iogio A)*
Cm =7CpFam = Cp ( By + By By )
Fp=1.0 « +u
pump P-101A
Capacify parameter=A: 5 kW
Ky -3.5793
K = 0.2208
Ks = 0.02850
logio Cp = 3.5793 + 0.3208 (09,0 5§ +0.02850 (log,, 5)*
logip Cp = 3. 8175
Cp = 6569 = $6.570
Bi = 1.80
Bz = (.51
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Results for Unit 100 - The Expansion Process

Chemical Engineering Plant Cost Index (CEPCI) = 382

Total Purchased Equipment Cost = $190,000

Total Bare Module Cost (CS and 0 barg) of Plant = $592;000
Total Bare Moduie Cost of Plant = $670,000

Total Module Cost of Plant = $791,000

Total Grass Roots Cost of Plant = $998,000 \
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